Ubung GréRen bruchfrei schreiben

(in dm, 5 1 1 10

cm, mm): 10 m= 5 m 5 m= 5 dm=5dm 1.5dm=5dm=5-10cm=50cm=500mm
(in dm,. ! m= ! m 1 m= 100 cm=20cm  7:20cm=140cm=140-10mm=1400mm (=14dm)
cm, mm); 5 5 5 5

9 9 1 1000

(in g): o5 g= 5 kg 5 kg= o5 g=40g 9-40g=360g

(in kg): 13 t= 13 t 1 t= 1000 kg=125kg  13-125kg=1625kg
8 8 8 8
(in dm, 9 9 1 10 _ _ _ 0. _ _
cm, mm): 10 m= 5 m 10 ™ 1o dm=1dm  9-1dm=9dm=9-10cm=90cm=900mm
(in dm, 9 _ 9 1 100 _ _ _ e _ _
cm, mm): 20 m= 5y m 20 M= oo cm=5cm  9-5cm=45cm=45-10mm=450mm (=4,5dm)

~
~
[N

L _ _ 1000 ' _
(in g): 7 g= 2 kg 7 kg= 2 g=250g 7-250g=17509g

(in kg): 8 t= 8 t 1 t= 1000 kg=200kg  8-200kg=1600kg
5 5 5 5
(in dm, 6 _ 6 1 10 _ ' _ 1. _ _
cm, mm): 5 m= —-m 5 M= "¢ dm=2dm  6-2dm=12dm=12-10cm=120cm=1200mm
(in dm, 6 _ 6 1 100 _ _ _ o4, _ _
cm, mm): 25 m= g m o5 M= ~op cm=4cm  6-4cm=24cm=24-10mm=240mm (=2,4dm)

(in g): g 0= 2 kg ; kg= 10500 0=200g 9-200g=18009g

. ) 9 . 9 1 ., 1000, ' _
(in kg): 5 t= o5 t 5 t= o5 kg=40kg  9-40kg=360kg

(in dm, ) 2 m= 2 m 1 m= 10 dm=2dm  2-2dm=4dm=4-10cm=40cm=400mm
cm, mm); 5 5 5 5
(in dm, 5 5 1 100 _ ' _ —oEQ. _ _
cm, mm): 2 m= —,—m o m= -, cm=50cm  5-50cm=250cm=250-10mm=2500mm (=25dm)
7 7 1 1000

(in g): g 9 8 kg 3 kg= 3 g=125g 7-125g=875¢g

6 6 1 1000

(in kg): o5 t= o5 t o5 t= o5 kg=40kg  6-40kg=240kg
Crfq'”rir:q) Tom= om ome 150 dm=2dm  11.2dm=22dm=22-10cm=220cm=2200mm
crgnr?wrrn) 230 m= 230 m 210 m= 12000 cm=5cm  3-5cm=15cm=15-10mm=150mm (=1,5dm)
(in g): s 9 i kg ‘11 kg= 10400 g=250g 5-250g=12509g

©
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(in kg): 9 t= t t= 10400 kg=250kg 9-250kg=2250kg
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(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):
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5 m= 5 m 5 m= 5 dm=2dm
3 m= 3 m 1 m= 100 cm=5cm
20 20 20 20 -

5 5 1 1000

g 9= g kg —gkg=—5—0=125g
9 9 1 1000

3 t= 3 t 3 t= 3 kg=125kg
8 8 1 10

5 m= 5 m 5 m= 5 dm=2dm
9 m= 9 m 1 m= 100 cm=5cm
20 20 20 20 B

7 7 1 _ 1000

25 97 25 KO o5 ko= 5507400

9 9 1 1000

4 t= 4 t 4 t= 4 kg=250kg
9 9 1 10

5 m= 5 m 5 m= 5 dm=2dm
6 m= 3 m 1 m= 100 cm=20cm
0 5 5 -5 B

4 4 1 1000

25 97 5 KO o5 ke= 007409
13 13 1 ., 1000,

10 t= 10 t 10 t= 10 kg=100kg
9 9 1 10

10 m= 10 m 10 m= 10 dm=1dm
9 m= 9 m 1 m= 100 cm=25cm
4 B 4 4 7 4 B

3 3 1 1000

N 0= 4 kg 4 kg= 4 0=2509g
6 6 1 1000

25 B 5t 5 5 ko=40kg
6 _ 6 1 _ 10 _

5 m= 5 m 5 m= 5 dm=2dm
3 m= 3 m 1 m= 100 cm=5cm
20~ 20 20~ 20 -

7 7 1 1000

4 95 4 kg, kg= -, 0=250g
7 7 1 1000

20 200 0% o ko750kg

9.2dm=18dm=18-10cm=180cm=1800mm

3:5cm=15cm=15-10mm=150mm (=1,5dm)

5-1259=625¢g

9-125kg=1125kg

8-2dm=16dm=16-10cm=160cm=1600mm

9:-5cm=45cm=45-10mm=450mm (=4,5dm)

7-409=280g

9-250kg=2250kg

9-:2dm=18dm=18-10cm=180cm=1800mm

3:20cm=60cm=60-10mm=600mm (=6dm)

4-40g=160g

13-100kg=1300kg

9:1dm=9dm=9-10cm=90cm=900mm

9:25cm=225cm=225-10mm=2250mm (=22,5dm)

3-250g=750g

6-40kg=240kg

6-2dm=12dm=12-10cm=120cm=1200mm

3:5cm=15cm=15-10mm=150mm (=1,5dm)

7-2509=1750g

7-50kg=350kg



(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

Ubung GréRen bruchfrei schreiben

g m= g m ; m= 150 dm=2dm  6-2dm=12dm=12-10cm=120cm=1200mm

:23 m= g m ; m= 120 cm=50cm  3:50cm=150cm=150-10mm=1500mm (=15dm)
235 g= 235 kg 215 kg= 1(2)20 g=40g  3-40g=120g

295 t= 295 t 215 t= 1220 kg=40kg  9-40kg=360kg

g m= g m ; m= 120 dm=5dm  5-5dm=25dm=25-10cm=250cm=2500mm

Z m= Z m 3’1 m= 120 cm=25cm  7:25cm=175cm=175-10mm=1750mm (=17,5dm)
g g= g kg é kg= 10500 g=200g  4-2009g=800g

230 t= 230 t 210 t= 1(2)80 kg=50kg  3-50kg=150kg

Z m= Z m ; m= 120 dm=5dm  7-5dm=35dm=35-10cm=350cm=3500mm

Z m= Z m 3’1 m= 120 cm=25cm  7:25cm=175cm=175-10mm=1750mm (=17,5dm)
290 g= 290 kg 210 kg= 1280 0=50g 9-50g=450¢g

130 t= 130 t 110 t= 1280 kg=100kg  3-100kg=300kg

170 m= 170 m 110 m= 18 dm=1dm 7-1dm=7dm=7-10cm=70cm=700mm

g m= g m é m= 1(5)0 cm=20cm  4-20cm=80cm=80-10mm=800mm (=8dm)

275 g= 275 kg 215 kg= 1220 g=40g  7-409=280g

275 t= 275 t 215 t= 1220 kg=40kg  7-40kg=280kg

2 m= 2 m é m= 150 dm=2dm  9-2dm=18dm=18-10cm=180cm=1800mm

190 m= 190 m 110 m= 11000 cm=10cm 9:10cm=90cm=90-10mm=900mm (=9dm)

Z g= g kg é kg= 10800 g=125g  3-125g=375¢g

290 t= 290 t 210 t= 1280 kg=50kg  9-50kg=450kg



(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):

(in dm,
cm, mm):

(in dm,
cm, mm):

(in g):

(in kg):
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5 M= o m 5 M= ¢ dm=2dm  2-2dm=4dm=4-10cm=40cm=400mm

i m= i m ‘11 m= 120 cm=25cm  5-:25cm=125cm=125-10mm=1250mm (=12,5dm)
Z g= Z kg ‘11 kg= 10400 g=250g 7-250g=17509g

183 t= 183 t Eli t= 10800 kg=125kg  13-125kg=1625kg

151 m= 151 m ; m= 150 dm=2dm  11.2dm=22dm=22:10cm=220cm=2200mm
260 m= 130 m 110 m= 11000 cm=10cm  3:10cm=30cm=30-10mm=300mm (=3dm)
g g= g kg é kg= 10500 g=200g 4-200g=800g

Z t= i t ‘11 t= 10400 kg=250kg  3-250kg=750kg

: m= 2 m é m= 150 dm=2dm  3-:2dm=6dm=6-10cm=60cm=600mm

235 m= 235 m 215 m= 12050 cm=4cm  3-4cm=12cm=12-10mm=120mm (=1,2dm)
285 0= 285 kg 215 kg= 1220 0=40g 8-40g=320¢g

g t= g t é t= 10500 kg=200kg 4-200kg=800kg

6 6 1 10

5 M= g m 5 M= ¢ dm=2dm  6-2dm=12dm=12-10cm=120cm=1200mm
170 m= 170 m 110 m= 11000 cm=10cm  7-:10cm=70cm=70-10mm=700mm (=7dm)
i 0= 2 kg 3’1 kg= 10400 0=250g 9-250g=22509g

190 t= 190 t 110 t= 1280 kg=100kg 9-100kg=900kg

g m= g m é m= 150 dm=2dm  4.2dm=8dm=8-10cm=80cm=800mm

121 m= 121 m ; m= 1(2)0 cm=50cm  11-50cm=550cm=550-10mm=5500mm (=55dm)
150 g= ; kg ; kg= 10200 g=500g 1-500g=5009g

270 t= 270 t 210 t= 1280 kg=50kg  7-50kg=350kg



